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&5 HRH Bfr K HEE 4H13H 5890 6H13H TH12E 8H19H 9A26AH 10A12H 11H14R 12A12R 1A10B 2H13H 3H14H R &/ME EHE %ié Hgf{é;;
N 2 &/ml | 10008/miLL F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N PN T - ptEshsesyl AR AR R AR Akl R N3 A R AR N TN = - =
3 |HRIVLAROEDLE Y mg/l | 0.003LLF || 0.0003%&% - - 0.0003K 1 = 0.0003K1#% = - 0.00037R = - 0.0003R7# | 0.0003R% | 0.0003z77 | 0.00035K¥H | 0.0003747#
4 | KEBROFONLED mg/l | 0.0005L4LF || 0.0000574 0.000055R = 0.00005A - 0.00005R 7% — 0.00005577% | 0.0000551 | 0.000055% | 0.0000557% | 0.000057iH
5 |ELUrRUBEOAEY mg/1 0.0184F | 0.001% — 0.0015k7 - 0.0015K% = 0.001 K% = 0.001% | 0.001K¥% | 0.0014K¥ | 0.001FK# | 0.001K7
6 |BERCEOILAY mg/| 0.01LLT || 0.0017H 0.001R4 0.0015R 1 = 0.001 K1 = 0.0012R7 | 0.001K¥ | 0.001K% | 0.001FK% | 0.001RM
7 |eHFROEOED mg/I 0.01LLTF || 0.001K7H5 — - 0.002 ~ 0.002 = 0.0015R{i - - 0.002 0.001RH% - 0.002 0.001 K15
8 |ARfirasibé mg/1 0.028LF | 0.0023K 0.002K1% - 0.0024 i = 0.002Ki; = - 0.002R{ | 0.0027R# | 0.002K:% | 0.002%¥H | 0.0027KiM
9 |EEmHEEREESR mg/I 0.04LLF || 0.00457% - - 0.004K 7 0.0045K 1 B - 0.004K 75 0.0045ki# | 0.0047% | 0.0047k7 | 0.0044K% | 0.004K7H
10 > 7oA A RO 7 mg/| 0.01LLT || 0.001575 0.001K7i% - 0.00 151 - 0.001 475 = 0.0013K7#% | 0.0012R# | 0.001R¥H | 0.001FKiH | 0.001KH
11 |FEERRRZE R R OVEHRA R 3 mg/l 10LLT 0.7 = - 0.5 0.6 - - 0.4 0.7 0.4 0.6 0.5 0.7
12 |7ovRRUEOIEY mg/l 0.8LLTF 0.087K1H% 0,085k % - - 0.08R1#% 0.08K 7 - 0,087 0.08k 1 0.08K15 0.085R 1 0.08
13 |RURRCEDEY mg/1 LOLLTF 0. 1K1 0. 1R 0. L7 - - 0. LA 0. 15t 0. 1A 0. 1K 0.1R % 0. 147
14 | bmRSE mg/l | 0.002B4TF || 0.00025K7 — 0.00025Ri% - - 0.0002R1% - 0.0002 1% - 0.0002R1#5 | 0.00027# | 0.00027 | 0.00025K7 | 0.00023k%
15 |L,4-U4F% mg/1 0.05L4F 0.005K 1 0.0057 i - 0.005:4% - = 0.005K 1t = 0.0055R{#% | 0.005zj | 0.00577 | 0.00574% | 0.0055K
16 |rA-Le-vraesi oty a-iz-vrmazsey | mg/l 0.04LAT || 0.0045K¥H — 0.004K7 - 0.004 55 = = 0.004K7# = 0.0042R7 | 0.004>k7 | 0.004K%% | 0.004KfH | 0.0045KiM
I P4=1=3 N4 mg/1 0.02BLF || 0.0023K¥H 0.0021#5 - 0.002K 7% - 0.002R7#% = - 0.0025R%5 | 0.0025K¥ | 0.0025R¥ | 0.002k¥ | 0.00277%
3 |FrorunzFLs mg/l 0.01BLF || 0.00055i% - - 0.0005K - 0.00055 1 - = 0.0005 0.00055&¥# | 0.00055 | 0.000547 | 0.00055% | 0.000577
19 |NWrmrxFL mg/1 0.0LBLTF || 0.001K 0.001 1% - = 0.001 K5 H 0.001K:{# = = 0.0013R7% | 0.001{H | 0.001R¥ | 0.001K% | 0.001K%H
20 |t mg/1 0.01LLF || 0.001¥ - = 0.0015kH 0.001 K1 - = 0.001K: ¥ 0.0013K7% | 0.001{H | 0.001R¥ | 0.001K% | 0.001K¥H
21 |EFERE mg/! 0.600 T 0.06K 7 0.15 = 0.13 - 0.0647 = - 0.15 0.06K 0.12 0.14
22 |/uoErE: mg/1 0.022LF || 0.0025Km = - 0.00241#5 0.002% = = 0.0024:5 0.0023k%% | 0.0022R%%5 | 0.002:K¥% | 0.002K% | 0.0025R7
23 |rmakis mg/1 0.06LLF 0.006 0.022 - 0.013 - 0.006R 7 = 0.022 0.006K 7 0.020 0.009
24 |YrouEEme mg/| 0.03L4TF 0.004 - 0.003K7i - 0.006 - - 0.003K7% - 0.006 0.0035K i = 0.005 0,003
25 | uErmmis mg/1 0.1L4F 0.01K:7 = 0.0 1K1 == 0.01 K% - 0.01KR % = 0.01 K% 0.012k7% 0.01K7% 0.012K%% 0.01 K
26 |RFEEE mg/! 0.01LLF || 0.001KiH = 0.001R7H = 0.001 %% = 0.001 %% = = 0.001K%# | 0.001R¥5 | 0.001K¥ | 0.001FK% | 0.001K7H
27 |[Mh urz mg/! 0.1L4F 0.015Rh S 0.02 0.01 - = 0.01KTH = 0.02 0.01K% - 0.02 0.01
28 |MraupEEe mg/1 0.03LLF 0.006 - 0.014 - - 0.013 0.003R1% 0.014 0.0035K 15 = 0.016 0.008
290 |TmEYruoiz mg/1 0.03LLF || 0.003K7% = 0.003K 1% 0.0035K: 1% - - 0.003K1% 0.003R3# | 0.003K¥% | 0.003K¥% | 0.003FK¥ | 0.003K%
RV ZA=E iV UN mg/1 0.092LTF || 0.009iH 0.009& 7% = - 0.0095Ki - 0.009& 3% = - 0.0093 | 0.009K¥% | 0.009K¥% | 0.0095K% | 0.009FK%
31 |FALsTAFER mg/1 0.082LF || 0.0085kik - 0.008K1 0.008K i ~ - 0.0083H 0.008K7# | 0.008K¥ | 0.008%i% | 0.008FK¥ | 0.008FKiH
32 |ESHRVCEDILEY mg/1 LOBLTF 0.03 0.02 - 0.02 - 0.0 1K 5 = - 0.03 0.01 R4 - 0.04 0.03
33 | TAR=I AR UFOLLEY mg/1 0.2LLF 0.07 - - 0.12 0.14 — - 0.05 ~ 0.14 0.05 0.10 0.18 0.04
M |BRUCEOLEY mg/! 0.304TF 0.03R{5 - 0.03K7H = 0.03:1# - 0.03K:4i5 . 2 0.035K 7% 0.03K7% 0.03zRi% 0.04 0.04
35 |HRUFEOLEY mg/] LOLATF 0.025K: 1 - 3 0.02: 7 - 0.02:K1% - - 0.025K 1% 0.025K 15 0.027 1 0.025K7 0.02K5% 0,024
5 |FRNUAROEOLEY mg/ 200LATF 3.3 4.3 — 3.4 - 2.7 - 4.3 2.7 3.4 3.6 3.3
37 | RUEDILAE mg/ 0.05L4TF || 0.0054 — 0,005 ~ 0.005Ri5 - 0.005R7 - 0.005{#5 | 0.005%Ri# | 0.0055Ki# | 0.005:R% | 0.0055K%
38 |k AA mg/1 200LL°F 1.7 1.7 1.8 2.0 2.2 1.6 1.6 1.6 1.8 1.4 1.3 1.3 2.2 1.3 1.7 2.2 3.5
39 BN A, S R (FFE) mg/1 300LAF 14 — 16 14 - 14 - 16 14 15 20 16
40 |EREZREY mg/1 500L4 T 59 - 51 - 52 - 40 - 59 40 51 61 60
41 |REAA RmiE R mg/1 0.20LF 0.025K:H = - 0.025K 1% - 0.02K7 - = 0.0271% - 0.022K35 0.025R 1 0.021% 0.02R:1H 0,021
42 |PxF RIS mg/l1  |0.00001LL T|| 0.000001 K% 0.0000012K1# | 0.000001R%#% | 0.00000177# | 0.000001 K3 | 0.000001 K4 - 0.000001 K = 0.000001 2R3 | 0.0000013&4# | 0.000001#] 0.000001 K7 | 0.000001 A5
43 |2-AF ARSI mg/l  |0.00001 L4 T|| 0.000001 K74 = 0.000001 533 | 0.0000012R%#% | 0.0000012{# | 0.000001 3 | 0.000001 K1 - 0.000001 K = 0.000001 5 | 0.000001 57#5 [ 0.000001 7] 0.000001 7| 0.000001 k75
44 A RIS R mg/! 0.025LF || 0.0022Ki - 0.0025R 7 - 0.002K /i - 0.002K 7% - 0.002K3 | 0.002FKi#%H | 0.002K¥ | 0.002FK% | 0.002:K7
45 |7=/—VH mg/l | 0.00554F || 0.00055k7% 0.0005 7 - 0.00057 17 - 0.00055= - 0.0005%7#% | 0.00055%# | 0.000571# | 0.000557 | 0.00055k7%
46 | B (£ FHRFE (TOC)DE) mg/1 3LLF 0.4 0.4 0.5 0.4 0.7 0.7 0.7 0.4 0.4 0.3 0.3 0.7 0.7 0.3 B 0.7 0.5
47 |pH{E - 5850 -8 6LLT 7.4 7.5 7.5 75 7.5 7.4 7.5 7.5 7.5 7.2 7.3 7.4 7.5 7.2 7.4 7.5 7.3
48 |k ByThLzY BEAL BERL RERL EHEL B2ESRL RERL BEiL BERL RERL Bl BEL RERL = = =
49 |RK - BEgcanzy BEAaL HERL RERL BEERL BERL BElL B HERL Bl BERL BEeL BEnL = - -
50 | g s TFeessy| 0.5k 0.55R1H 0.5 0.5 1.0 0.8 0.5 0.5k 0.5 0.541 0.5 0.6 1.0 0.5 = 1.1 0.5
51 |@ B e Fesssy|  0.15TH 0. 1K 0. LR 0. 1R 0. 1K 0.2 0.1R%5 0.1K7 0.1 0. 1R7% 0.1 0. 17 0.2 0. 1R - 0.2 0.1
— | *KEEHECETNREB
KIE T 15.2 14.9 17.5 22.0 22.9 21.1 17.2 13.4 9.9 5.8 5.6 9.1 22.9 5.6 14.6 21.7 23.6
— |&RE C 23.8 14.0 20.2 26.0 25.8 25.0 13.9 12.7 5.5 3.9 6.0 13.0 26.0 3.9 15.8 26.4 32.0
—  |EEER mg/I - 0.5 0.5 0.4 0.4 0.5 0.2 0.4 0.5 0.6 0.1 0.1 0.1 0.6 0.1 0.4 0.8 0.8
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